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Why is Russia underperforming as a transition economy relative to its ex-Communist allies? Russia showed some success in 1995-97, but then things got worse again. 

Why do we see so much corruption and oligarchy in Russian business and politics? Will Russia develop into a democratic market economy?

· most investment from retained profits and only very short term loans from banks

· B&Y claim that “programs of transition” as advocated by Fund and Bank have not been implemented 

To understand post-collapse performance we have to understand the pre-collapse conditions going back as far as to Stalinism, because the totalitarian economy contained the seeds of self-destruction within its incentive mechanism, i.e. institutions (basic claim)

Under socialism/communism money was obsolete as prices were artificial. B&Y claim that “The institution of the totalitarian party can indeed be considered […] as representing the equivalent, under the planned economy, of the institution of money under a market economy.” (p. 28) That means that the rank in the hierarchy of the Party decides the amount of power one has. Market and Planned economy detrimental: Political power means to end (wealth) under market and money means to end (political power) under planned.

Proposition 1. Hierarchical ownership is incentive-incompatible with free democratic elections.

Proof.  Member of the hierarchy have contracts with superiors as a reward for loyalty. Free elections might change the order in the hierarchy, thus end contracts. Under the assumption of infinite risk-aversion free elections are a risk to the system. QED

Let’s go back to Stalin’s time. Stalin as principal. Reign of terror. Estimate: 6-7% of total population in labour camps. It is claimed that even that rate was “planned”, because of the high death rate new influx had to be provided. Khrushchev and later Gorbachev “reformed”/relaxed Stalinist system, brought collapse.

Model of Innovation and the Planned Economy (Ch. 2)

Concept of innovation goes back to Schumpeter, much quoted in transition literature

Population of N

Each agent endowed with one unit of labour

Total stock of capital is 
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, where x is capital invested into production

Function a is concave, twice differentiable 

Each agent owns 
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At time t agent m mutates, ie discovers new technology, new production function b(x), 
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Fig. 1
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Agent m wants to invest more into the new technology, the investment is given by 
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 are the inframarginal returns to the innovator

Now application to planned e: technology only comes observable to agents with distance d to agent m. 
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, Diameter of set N is D. S(m) neighbourhood of m. Neighbours can learn technology in period t+1. In period t+2 neighbourhood expands to 
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In the totalitarian economy only one agent owns all the capital, Stalin

Stalin is an isolated agent, various reasons, ie he will be last to know:
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problem of monitoring for Stalin, Stalin can agents let bid for renting contracts (market), where Stalin collects 
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 and agents get inframarginal returns 
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, because Stalin doesn’t know the production function.

Imagine game: Stalin and 1 and 2, Stalin lets them bid for capital stock. Stalin learns 
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 will exceed total capital stock, because of concavity, they outbid each other, no cooperation, Stalin asks for operation license fee, they will outbid each other until license fee is equal to 
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, because they in the limit is gains them more utility than not producing

Proposition 2. Hierarchical ownership in an innovating economy with an isolated dictator is incentive-incompatible with a market allocation of the capital good.

Proof. Assume opposite. Innovator m learns new technology, invests inframarginal returns into new technology, his neighbours learn the same, they will overtake dictator at some point regarding possession of capital good. QED

Stalin’s monitoring game: two agents, should they reveal their innovation in t+1, r>1 is the reward by Stalin, revealed hider goes to prison or dies. Reveal dominates 

	
	Hide
	Reveal

	Hide
	
[image: image18.wmf]*)

*,

(

0

0

m

m

p

p


	
[image: image19.wmf]*)

,

(

0

m

r

p

-¥



	Reveal
	
[image: image20.wmf])

*,

(

0

-¥

m

r

p


	(0,0)


But agents might be cooperative, however Stalin can prevent cooperation by –infinity as penalty is so infinitely harsh, when there is even small probability on it

Not only monitoring costly, but also economic planning, changing plan from a(x) to b(x), denote by c, increasing convex function of diameter of the set of productive agents, c(N-1), c’>0, c’’>0, 

Assume mutation frequency f of agent State-owned Enterprise (SOE), f(N-1); f’>0, f’’<0, concave

Solve following equation for optimal number of SOEs:

B’f’[D(N-1)]=c’[D(N-1)], where B’>0 with B’’<0 is marginal benefit to Stalin from marginal increase in frequency of mutation

Monitoring through SOE managers/red executives, rotate them, pay reward by moving up in hierarchy

Model of Producer’s Behaviour under late planned economy (ch. 3)

Principal-agent

Assume production function for SOE

y=f(I), f’>0, f’’<0, I is investment of capital

utility of agent (management of SOE) is 
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, X is amount of capital provided by planning authorities to SOE

constraint: f(I)=pX, i.e. the plan, 
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agent’s problem 
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s.t. the constraints about X

if second constraint not binding, f’(I)=p

unofficial economy (parallel): q=X*-I* 

analysis: 
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 , relaxation of plan induces more unofficial production, liberalization increases investment, but also parallel economy, can be shown by 
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corner solution
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interior solution
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in this diagram changes can be observed if slope of pX changes etc.

q some measure of inframarginal returns 

parallel economy captures shadow economy (to fulfil plan) and second economy (illegal) after Lavigne (1995. The Economics of Transition)

the notion of parallel economy can explain post-collapse failure:

1. absence of constitutional arrangement and enforcement of property rights; problem of bespredyel (Hobbesian mafia)

2. high degree of market segmentation

3. orientation towards short term profit maximisation

4. priority towards rent-seeking behaviour

5. social costs of corruption

“If a socialist state grows suboptimally, the postsocialist (posttotalitarian) state does not grow at all.” (p. 127)

B&Y extend model to malfeasance, pressure groups, oligarchic power,  

Criticism:

Good book, because of good/unseen compromise between reality and formalism. 

No reference to Stiglitz

Innovation, institutions and incentives important in analysis
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